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NBEF H(AESR) A 1A Ald A RS g 4 B
NEed: 2015.11.17. e R REREEE
9 % Density 2.721 g/a 2AAS P NP A g4 0.M.C 7.9 (%)
MNA3A Liquid Limit NP (%) =457 2 2 1] (CBR) 21 (%) AN (A HED &) 14.1 (%)
248 Plastic Linit NP (9 AWIEDE 5000 g Aage) 7.2 (%)
A7 & dE R
PERCENT PASSING OF
STREVTE ANALYSTS
CEERN I
ANEYEFA (mm) (%)
GRADING CURVE OF SIEVE ANALYSIS 75 -
53 -
_ 37.5 =
£ 26.5 -
Y 9.5 -
"3 4.75 -
: 2.0 -
0 0.425 -
g9 7 0.08 -
Grading Size(mm) pan
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o A A
o AT E482 o AlFAA :2015.11.26.
o AlgH¥ : KS F 2312:2001 o 7%zt Hen 7 LY
O AFEEFE I Z(HESL) oA ¥ A :NFs A H I
= = 8 2o 2206.55 cit A 597.1¢g
8 2206.55 cIi 5967.1 g
] T :2.721
(AN B+E=)FAl(g) 1 | 10588.5 ! 2 | 10707.7 ! 10792.4
I 1
Ao EHA(g) 4621.4 i 4740.6 i 4825.3
Aoy t(g/ar) 2.094 i 2.148 i 2.187
ww: | 1080.5|DW: [ww: | 1125.8/DW: W : 1134.6|DW: |
DW: | 1032.7|TW: | 208.9;DW: | 1059.9|TW: | 180.2[DW: 1050.7/|TW: 178.6)
W : 47.8 Vs 823.8,1: 65.9 Ws:  879.7|Ww: 83.9 Ws: 872.1,
W: 5.8 W: 7.5 W: 9.6
g & oW = A ! !
WW: | 1115.7|DW: lw: | 1193.6|Dir: W 1146.0|DW: !
DW: | 1064.7|TW: | 206.3 |pW: | 1124.6|TW: | 197.8|pW: 1062.3|TW: 207.4]
W : 51Ws:  858.4)Ww: 69 Ws 926.8|Ww: 83.7 Ws: 854.9)
W: 5.9 W: 7.4 W: 9.8
I
A 3hn] W(%) 5.9 i 7.5 i 9.7
Az Yd(g/ar) 1.978 i 1.999 i 1.993
G 57l A= A 2.345 | 2.260 | 2.153
A Z 9 = o/cn) o _i___ - i___ ]
(A B+E=)T 7 (9) 4 10832.9[ L5 ] 10779.4 ! ] 10659.8
oA ZEA(g) 4865.8 | 4812.3 | 4692.7
Ao Vi(g/en) 2.205 | 2.181 | 2.127
WW: | 1147.1|DW: !WW: 1185.7/DW: W 1244 .5|DW:
DV: | 1049.5| 204| 177.4/pw: | 1065.2|TW: | 175.7[pW: 1104.6/|TW: 179.9
W : 97.6 Ws:  872.1)lw: 120.5 Ws:  889.5|Ww: 139.9 Ws: 924.7
W: 11.2! W: 13.5' W: 15.1"
& 5 ou = A |
WW: | 1132.3|DW: byw: [ 1126.5|pW: W 1212.7|DW:
DW: | 1085.8/TW: | 179.8IDW: | 1009.3|TW: | 209.5|Di: 1075.0|TW: 179.5
W : 96.5Ws:  856.0|Ww: 107.2 Ws:  799.8|Ww: 137.7 Ws: 895.5
W 11.3 W 13. 4, W: 15.4,
H o shn] W(%) 11.3 i 13.5 i 15.3
AZA T Yd(g/cr) 1.981 | 1.922 | 1.845
o 7] = 3
o = w el e 2.081 1.990 1.921
B a1




2.100

2.090

2.080

2.070

2.060

2.050

2.040

2.030

2.020

2.010

2.000

1.990

1.980

1.970

1.960

.950

HIonE by

1.940

1.930

1.920

1.910

1.900

1.890

1.880

1.870

1.860

1.850

1.840

1.830

1.820

1.810

1.800

-
&5
\
\
ZolAHA=ZTE =2.000 \
\
\
B_SNN
N
= \
\
\
\
\
O.M.C=7.9
\
4.0 5.0 6.0 7.0 8.0 9.0 10.0 11.0 12.0 13.0 14.0 15.0 16.0 17.0
st
BT 37|33

18.0



D EA482
:KS F 2309:2004

2(MES)

2015.11.26.

A HEH 2 £%

1717 Ax5Al(g

0.08mmA| &= (%

B

A

2703.7

—X 100

14.1%




z9 A= A

o Al & W & EA4R82 o Al o] :2015.11.26.
o Al & W H KS F 2308:2006 7% 2 Hed 7 L%
Al F 5 Z(HESR) Al A ARE 2 H I
1. H1ZH ] AA
= = H K2 1 2 H| 11
v = " 9 H ol 23 41
Hl o & Wf (g) 81.717 76.403
HSH + /75 % Wai (g) 330.033| 325.837
Wais E%s W 2 Ti(C) 20.0 20.0
LE Tx(C) d v &0 I @
o Ti(C) o 1 B Wi 1.000000] 1.000000
Wai - Wf (g) ® 248.316|  249.434
ol &% (Tx)ol gk I3 %-m]H
imo Za Wax (g) = @ x 330.033| 325.837
2.8 F A 3
HEH + =0XAR + B TF
o | =olee 345.915 | 341.646
Wh(g)
e SA el vaxngHe
ye&e 2% Tx(T) 4.0 20.0
wAZ A5 T Wo (g) 25.043 25.010
T(CH)Y o Wo
5o HF = 2.734 2.718
(TC / TC) Wo + (Wax — Wb)
2rost &9 Uk (g/cr) 0.99820]  0.99820
%5 9 9 =(g/er) 2.729 2.713
g 4 # 2.721 (g/ct)
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O AlFWME 1 E4R2 o Algddzk 1 2015.11.26.
o AP : KSF 2302:2002 o NeAd  HgH HEE
o MNIFF L H(HELR) o Al W A AUHS A H I
1. MZ24 . HSHEH AIgZ2UE
Az AESEZ) )] 75 53 37.5 | 26.5 19 9.5 | 4.75 2 0.85 | 0.425| 0.25 | 0.106 | 0.075
=0 JIENS(%) | 100.0 | 100.0 | 100.0 | 98.1 | 96.4 | 91.0 | 83.7 | 69.5 | 50.4 | 35.1 | 27.0 14.8 10.9
HIEHA | < 2(M) | 0.046 | 0.033 | 0.021 | 0.012 | 0.009 | 0.006 | 0.003 | 0.001 | 0.0001
g IIEENSMH) | 7.7 6.9 6.1 5.8 5.4 5.0 3.1 1.1 0
2. YAINE2HM
—
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=
o AlFWHIE : E482 o AlgdA  : 2015.11.26.
o }‘]@Hg'ﬂmj] :KS F 2302:2002 e} 7]%‘_11(%][;}_ . il%g ,i £ },
o AFEE CE(AES) o Al & A UsE 4HL
(ZINAXZASHEI)2AH 692.09 g Eolst4=tl(w) : 7.2%
ZI|2A : 577.00 g Eoldx (Gs) : 2.721
SIATZAZFAH W, : 115.09 ¢ 24X (PI) - N.P SAHAI ANMUES
AXAIZS2H : Ws=100Ws /(100+w) : 115.01 g
P2.0(2H2.0mmolMe JDIEENE: 69.5%
1. 2IAHXZAIRO &4H =FH(XHELH|)
NO @ 1 NO : 2 NO : 3
WW = 1036.9 WW = 1205.4 W =
oW = 978.0 Tw = 172.5 oW = 1136.4 Tw = 175.2 DW = Tw =
Ww = 58.9 Ws = 805.5 Ww = 69 Ws = 961.2 Ww = Ws =
W= 7.3% W= 7.2% W=
Yot o 7.2%
2. HISH ANE
RN =V ET: HEHS EEREENEEE e aire  |omaa . e o] 2EI
=T t(min) | A42= r 25210(L(mm) L/t v L/t N (30n)/g(rs—rw) | ZCHL A0 (mm) =EAeE =2 N R ==}
9:21 1 0.0170f 0.0170 136.5 136.5 11.6832 0.0039 0.0459 25 0.0020f 0.0190 26. 1% 7.7%
9:22 2 0.0150f 0.0150 140.4 70.2 8.3776 0.0039 0.0329 25 0.0020f 0.0170 23.3% 6.9%
9:25 5 0.0130f 0.0130 144.2 28.8 5.3710 0.0039 0.0211 25 0.0020f 0.0150 20.6% 6.1%
9:35 15 0.0120f 0.0120 146.2 9.7 3.1216 0.0039 0.0123 25 0.0020f 0.0140 19.2% 5. 8%
9:50 30 0.0110f 0.0110 148. 1 4.9 2.2219 0.0039 0.0087 25 0.0020f 0.0130 17.8% 5.4%
10:20 60 0.0100f 0.0100 150.0 2.5 1.5813 0.0039 0.0062 25 0.0020f 0.0120 16.5% 5.0%
13:20 240 0.0050f 0.0050 159.7 0.7 0.8158 0.0039 0.0032 25 0.0020] 0.0070 9.6% 3.1%
9:20 1440 0.0000f 0.0000 169.4 0.1 0.3430 0.0039 0.0013 25 0.0020] 0.0020 2. 7% 1.1%
HUAHAS EX (Cm) : 0.0009 1:8H 282 Z0IAl =241.0000HXI 22 0l (m) 107.59
Ws/V (g/cm) : SEM 1ml & AZAIZ 2 2:2H 2o TOA =241.0507HKI2 2 0l (mm) 10.87
b : X 2229 20l (mm) 136.84
1/(Ws/V)= 8.70 cm/g Gs/(Gs-0.99678)*rw 1.578 g/or Vb : BE 229 21)(er) 57.50
A HIAARIHS SHEHA (o) 58.84
3. HotE
H A 1 2 3=2-1 4=3/Ws 5 6 7=6xP2.0
- = H2A2+ | H2Al2
A EJHs [EIIRH]| o5 o o =2 MRS RE IIRENE |BEHIIE S8
0.85mm(NO.20) 1 437.3 468.9 31.60 27 .5% 27 .5% 72.5% 50.4%
0.425mm(NO.40) 2 369.7 395.0 25.30 22.0% 49.5% 50.5% 35.1%
0.25mm(N0.60) 3 380.0 393.5 13.50 11.7% 61.2% 38.8% 27 .0%
0.106mm(NO. 140) 4 345.1 365.2 20.10 17.5% 78.7% 21.3% 14.8%
0.075mm(NO.200) 5 353.3 359.7 6.40 5.6% 84.3% 15.7% 10.9%




FAUAMNE(H24 ANE)

o AFHMS 1 E482 o Alddar 12015.11.26.
o AFuH : KS F 2302:2002 o NeMolA EBEH 2 LY
O NFFEE P F(HER) O Al 3 A UsS 447
B - o NO.10XI0I &2 ANIEE 22 A1
HHAIZS SIIAZR2AW) CAEAIZL A2 (W)
A=z
ZH (MMBIHEANZ+ED]) 3926.5 ¢ W+ I1) 2 Al 1,654.3 ¢
ZI12 759.4 ¢ SI12 759.4 ¢
HHUAIZO ZBIHZ2AW) 3167.1 ¢ W1 894.9 ¢
1. 2nmAl SUAIZS S=Hl =H
NO 1 NO 2
W 857.3 ww 829.9
Ow 810.1 Tw 208.1 Ow 785.2 Tw 204.9
Ww 47.2  Ws 602.0 Ww 447 Ws 580.3
W= 7.8% W= 7.7%
BassH  7.8%
2. HAXZANZSAMWO) = W/ (1+w) 2938.7
3. 2mmAl SWUAEANZLHW2)= W2=IW0-W1 2043.8 g 2043.8
4. P2.0(2Z2.0mmOll A2 JIXSWE)= W2/Wo 69.5% 56.2%
5. 2mmA 0l €2 A2 M=EA
H At 1 2 1 2=1/W0
_ - o FEVET ITEVE o | Ot |2m =
M goeds B8R goemg| ewmw | BFER | xss I8
75.0mm 1 437.10 437.10 0.00 0.0% 0.0% 100.0%
53.0mm 2 461.90 461.90 0.00 0.0% 0.0% 100.0%
37.5mm 3 471.60 471.60 0.00 0.0% 0.0% 100.0%
26.5mm 4 469.50 525.90 56.40 1.9% 1.9% 98. 1%
19.0mm 5 456.80 505.20 48.40 1.6% 3.6% 96.4%
9.5mm 6 489.70 650.30 160.60 5.5% 9.0% 91.0%
4.75mm 7 524.00 738.30 214.30 7.3% 16.3% 83.7%
2.0mm 8 448.90 864.10 415.20 14.1% 30.5% 69.5%
* AZNZ20: 894.90 ¢



CBRA o =
o AlFHE E482 o Al Az} 2015.11.26.
o A KS F 2320:2000 o A& HeHd HEE
o AFER 1 Z(HESR) oA ¥ A Pags LAZ
5 KNEEE| (B4 |[EEFANRERFA| 228 (2ol | g4 (vtEE = [ =AHCBR
= =
D olrmus| T M @ | @ | @ | @ | ® | @ | @
T g)
3X17 37 8741.5 | 4571.0| 4170.5| 2209.21| 1.838 79| 1.750] 4
3X42 38 9049.2 | 4609.2| 4440.0] 2208.04| 2.011 79| 1.864] 18
3X92 39 9195.7 | 4630.6| 4565.1| 2201.71| 2.073 79| 1.921] 23
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SR R

= = s “1:].’ A

O AldWE 1 E482 o /\]'DJ"‘;]_“‘:{ »  2015.11.26

A 0 KS F 2320:2000 o M=, . . A4H
NPEE @ 3(HESL A F 2 AEs

vl ol &k

T %m‘?n)c’ 0.0 0.5 1.0 1.5 2.0 2.5 3.0 4.0 5.0 7.5 10.0
Ztgf) 0 19.0 29.0 39.0 47.0 55.0 63.0 77.0 90.0] 118.0] 146.0
=

37 |SrEeEl 1.0 1.5 2.0 9.4 2.8 3.2 3.9 4.6 6.0 7.4
(kg f/
=] == ]_1:
?}l\aﬁ/?ﬁ) 0 0.095| 0.145] 0.195| 0.235| 0.275] 0.315| 0.385| 0.449| 0.589 0.729
(Sk,qu) 0 40.0 g2.0] 130.0] 175.0 215.00 254.0| 316.0| 370.0| 458.0| 528.0
=] == ]_

383 |SreeEl 2.0 4.9 6.6 8.9 11.0 12.9 16.1 18.9 93.3 96.9
(kg f/
=] == ]—I:
Shew=1 0.2000  0.409] 0.649] 0.874| 1.074| 1.268| 1.578] 1.848] 2.287 2.637
(MN/m")
(Okg?) 0 66.0 128.0 189.0| 244.0 200.0| 334.0 404.0| 4710 579.0] 667.0
=] == ]—I:

39 |l 3.4 6.5 9.6 12.4 14.8 17.0 20.6 924.0 99.5 34.0
(kg f/
=] == ]—I:
?Mﬁ/z;nj)_ 0 0.330] 0.630] 0.044| 1.218| 1.448] 1.668] 2.017] 2.352| 2.801]  3.331
17 3 (2.5m) g'g <100 = 4.0% 5. Omm 100°43 <100 = 4.4%
42 3 (2.5m) é'; %100 = 15.6% 5. Omm 110°83 <100 = 17.9%
92 3 (2.5m) é'g <100 = 21.0% 5. Omn 120°43 <100 =  22.8%
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o A|FHST : E482 o AldLA  :2015.11.26.
o AlFEHH 1 KS F 2320:2000 o 7l=AUA; (HEE2 47
o AlFEE I H(HES) o Al F 2 Hdsd A
AMHA
AlgEl 1 2
7 H 3
EI|2A+H 22
7| FH+0EEZF |
= o Z A 0 0
s 7 & A
of 2 Al & & 0 0
il #DIV/0! #DIV/0! #DIV/0! (A2 M & otE
OH M SHA|
Al B 1 2
e s
7 H 3
EI7|2A + 2524
7|74 + 0t E2ZFA
£ o 2 0 0
s 7 & A
O 2 Al 2 & A 0 0
&t £ H[(%) #DIV/0! #DIV/0! #DIV/0! |A 2 A& oE
N A B
=z
sk
101
'_|f)
ar
0
1.0 10.0 100.0
(W) %
Al M3t
M SHA HMSHAMX| =
NP NP NP




